dE/dn [GeV]

Ratio to CMS

10?

10

[EEY

0.5

Rivet 3.1.10, = 3.2M events

900 GeV pp NSD
L L O L LY I S A B N B L L
Energy flow(NSD, pjlez > 8 GeV, H?| < 2.5)

- m CMS E
— —-£-- Pythia 6.428 391 —
- - Pythia 6.428 393 N

| --e-- Pythia 6.428 394
--¥-- Pythia 6.428 395
|
— m . —
_ TR OO SR y -
B = ___________ _!::_/‘;,;.—,- = i““"-"‘-"‘-"—-—M‘—‘-:'-'—"-i-'.i-::_-'.:_:.g 7
| | | | | | | | | | | | | | Ly 1
: T T T | T T T T | T T T T | T I:
T v .
- = :::gltlii:'iaa:';:;:"“5~~‘_:::_._'\"‘ . —
L .;-.;;:ﬁ::‘:.: o .y -
1 1 1 | 1 1 1 1 " | " 1 1 1 1 | 1 " 1
3.5 4 4.5

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


